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Question Number : 1 Question Id : 8135611281 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the following statements

(1) Relation is a special case of function
(11) Function is special case of relation
(111) Both relation & function are same

& Sots RHBEICD .Tgsrgmjuvff
(i) Poeroisdn, HAOIAD as0g), ;;,@755 R0G36N 500
(i) 2200320, Dorota W), D[S VoGBS
(iii) R0e2065350, HIVOAN Tolr 2,863 |
Options :
(111) 15 True. (1) & (i1) are false

(111) 2252, (1) <SoBaad (11) @mgm

1. %
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(1) 15 True, (11) & (111) are false
(1) 23800, (11) Hodod (1ii) eﬂmgm
w

(1) 1s True. (1) & (i11) are false
» (11) Q23a20. (1) so8od (1i1) wmgm

All (1). (1) & (111) are true
. (1). (1) & (111) e whl QD2TPe)

Question Number : 2 Question Id : 8135611282 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If cos(f;) + cos(8,) + cos(6;) + cos(6,) = —4, then the value of CDT( ) + (‘Ot( )-I-
cot( )+{‘ot( )
c0s 0 + cos b, + cos by + cos by, = —4 O, co’r( ) + cot( ) + mr( )+ cot( )

Options :

1.% 4

Question Number : 3 Question Id : 8135611283 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The tangent to the curve y = e2* at the point (0, 1) meets the x-axis at

(0,1) Dockdi) 3¢ y = ** 3578 HdD #y6) Ba 1-w7) Wociotd DotdY

Options :

Question Number : 4 Question Id : 8135611284 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a root of f(x) = x® — 11x% + 36x — 36 ?

& Sod T70S° A& f(x) = x¥ — 11x?% + 36x — 36 FLAL TE?

Options :

1% 2
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Question Number : 5 Question Id : 8135611285 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let t and v be two vectors. Then |u —v| = ‘ [u| - || | if and only if

1 08050 ¥ &0 Botd DA% (U - 1| = \Iu\ —~ |v\| OTWol] 53[0, DT LAV 05080

Options:

|« lul =1l

u and v have the opposite direction

L u 083w v e .;ﬁs@éa: 6B DHI

u and v have the same direction

o u 208030 v e ASAF DAFD

u and v are perpendicular to each other

4 % U S000300 17 e ok RGTLD

Question Number : 6 Question Id : 8135611286 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

n/2

" x+sinx
J A W
1+ cosx
0

Options :
T

1.% 4
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Question Number : 7 Question Id : 8135611287 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The directrix of the parabola 2y? + 25x = 0 is

22 4 25x = 0 DTS00 oS B DSCE[D

Options:

L »8x—25=0

L, x 8y—25=0

5 % 25x=28=0

4 % 25y —8=0

Question Number : 8 Question Id : 8135611288 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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. x2+ 5x+7 A B C
It ——i _ : 2+ — then94 -3B+(C =
(x—3) (x—3) (x—3) (x—3)
24+ 50+7 A B %

= + 290D, 94— 3B+ C =
(x=3)°  (x=3) (x-3)2  (x—3)3 "

Options :

1.% 2
2. % D
3¢ 7

4.% 9

Question Number : 9 Question Id : 8135611289 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3%
j,: {'EI =
V1—9%

Options:

. 10Xy L (1ag 2L
1_\_f,i’;ln (3*)-(log3) " +¢

i Sin"1(3%)-log3 + ¢

_1 R B
= Sin~*(3%) + ¢
3. ®

1
5 Sin~(3%) + ¢
4, %
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Question Number : 10 Question Id : 8135611290 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The point to which the origin should be shifted so that the equation y> — 6y — 4x + 13 =0
will not contain term in y and the constant term. 1s

yi—6y—4x+13=0 oos), EPoB6 HAVEBHANG’ ¥ HEAD SHBEE i@‘.\dm%‘ a0
BEUol) BER VAFedS DBIG BT Aredo@id o Dot)sd 3romyd?

Options :

L% (2,1)

Question Number : 11 Question Id : 8135611291 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If on an average 9 mountain climbers out of 10 return safely. what is the probability that with
5 climbers out, at least 4 will return safely?

AT 28 10 00d f’.JdSG"Ef FHVE’ 9 0B GBI HOA ST . 5

E@Orﬁ‘@m SAAD 4 HE WL ST SR RS R}o&;"é}giﬁ

Options :

1. %
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9% x 7
50000

9% % 7
5 « 50000

95
5 = 100000

9% % 3

4 % 50000

Question Number : 12 Question Id : 8135611292 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If §; and §, are two straight lines such that the reflection of §; in §, and the reflection of S, 1n
S, coincide, the angle between S; and S, is equal to

S; 008010 §; 00 Gotdd REY Baew. S ::&;,.g“is S5 8D 208k S, ‘7’&%“5 5
200000 I, BV S, 5, 0 e Eniw .

Options:
T
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Data Insufficient

QTR0 900000
4, % = .

Question Number : 13 Question Id : 8135611293 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the asymptotes of the hyperbola 2x2 + 5xy + 2y? = 11x =7y =4 =0 s
202+ 5xy +2v% — 1lx = 7y — 4 = 0 08205008r 8 (10 0dod "fabdgéam DADEERA=
Options :

- 2x% + 5xy +2y2 —11x -7y —9=0

, @ 2X° +5xy+2y*—11x~7y+5=0

3 % 2x2 +5xy+2y? —11lx— 7y +4 =0

4 % 2x?2 4+ 5xy+ 2y —11lx—7y+9=0

Question Number : 14 Question Id : 8135611294 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Iff:R— Risdefinedas f(x) =x—[x]+3, Vx ER.thenfis

fiR>RDf(x)=x—[x]+3, Vx € R AR, &®YyD f

Options :
Not a function
1 % 00 50
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A periodic function with period

|, &S ©9G3 H30ohan. 6 Jgh 6560 T

A periodic function with period 1

:)ga’q 2325000 1 TF (0 208 8550 DDocidw
3.4 ®F T -

Annvertible function
4 % 2200308 DS 2080 &0t

Question Number : 15 Question Id : 8135611295 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the line v = 2x + ¢ touches the curve x? + 4y? = 4, then ¢? =

P4yt =455 y=2x+c BRI’ =

Options :

. % V65

5 w17

3 % 63

4. %

Question Number : 16 Question Id : 8135611296 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The equation of a circle which touches the x-axis and whose centre is (1,2) is

-omR) Dy 3, (1,2) SoBSnrr e 38 HLEGRA0

Options:
L w (=22 (- D7 =4

S G-DI -2 =4
3 % x—1D*+(v+2)?2 =4

s T+ -D* =4

Question Number : 17 Question Id : 8135611297 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the general solution of 3 sin*(f#) + cos*(6) = 1

3 sin*(0) + cos* () = 1 L I -6 JG:

Options :
nm only
nm Srdad

T
nir + = only

T
nw + — g
2. % ¥
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T
nm — — only
4

T
ot = Fobula Fob)

T T
niT . Nt +T and nm ——

4

s T
nmw ., nr+— 00y nm——
4. 4 4

Question Number : 18 Question Id : 8135611298 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the area enclosed by the curves x2 =2 —y. x? =y

% =2~y 20805 1% = y S5end erd320) DB DTV

Options :

Question Number : 19 Question Id : 8135611299 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Eliminating a and b from the relation y = alog x + b. we get

v = alogx + b 0adE6m08" a S08ak0 b 0 FORET Siiy PadECEAD

Options :

| @ XYzt ¥ =0

, % Xy—y> =0
3 8 X1 +y* =0

4, ® vy +x =0

Question Number : 20 Question Id : 8135611300 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a,f,y are the roots of x® — 2x% + 3x — 4 = 0 then find }, aff (@ + B)

X2 —2x* +3x—4= 0% doreren a,f,y @ond Yaf(a+ ) =
Options :

1. % —2

2. v —6
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Question Number : 21 Question Id : 8135611301 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Three dice are thrown. Given that they have a sum of 8, the probability that one of them 1s a

four 15

20 D0 FBDTTE0. €5 D0(L DGR 8 LAVIYE. WD G 4 SO
;’oomﬁéé
Options :

9
11

Question Number : 22 Question Id : 8135611302 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The area of the parallelogram. whose diagonals are 27 — j + koand i+ 3] = k. is equal
to 5. units

20— ]+ k 20Baty [ +3] — k ST00r o 0AT080 38062 DTV
56562 ohrdew
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Options :

“\IE
1. % 2
2

2 ® ‘u’lﬁ

\.“'E
3.¢¥ 2
2

4 % V62

Question Number : 23 Question Id : 8135611303 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The general solution of the differential equation tan(y) dx + sec?(y) - tan(x) dy = 0 13

tan(y) dx + sec?(y) - tan(x) dy = 0 350D DDEEETIS FTron FeD

Options :

| % sin(y) - tan(x) = ¢

5 sin(x) - tan(y) = ¢

3 sin(x) + tan(y) = ¢

4% sin(x) — sin(y) = ¢
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Question Number : 24 Question Id : 8135611304 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If P(—3,-2,4). 0(—9,—8,10) and R(—5, —4, 6) are collinear. then the ratio in which
R divides PQ 1s
P(-3,-2,4), 0(-9,-8,10) &0doin R(-5,—4,6) Dotosnen ’@5&{501)"9.1} 29008,
R Do) PQ B3radot=2) Do D@7

Options :
1w 132

2. %

3_“-3:1

4% 133

Question Number : 25 Question Id : 8135611305 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1 + tanh(x/2) B
1 — tanh(x/2)

Options:
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28—.‘1:,"2

Question Number : 26 Question Id : 8135611306 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a line drawn from a fixed point M(a, b) cuts the circle x> + y* = k% at € and D. then
MC X MD 1s equal to

M(a,b) Dotod) oot T 28 B x2 + y% =k 3T € boin D Dow 96
Pold, MC X MD =

Options:

i e T

1. =
5 ¢ﬂ2+b2_k2

L @@ —bE— K

4% K°

Question Number : 27 Question Id : 8135611307 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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The number of ways of choosing a committee from four men and six women so that the
committee includes atleast two men and exactly twice as many women as men 1s
H0HE KLY BA 6D éuxund 28 S8 V66T, & $S" o
2 )ER0e0 Eoti 208050 &8 2O’ 0 Ro SBE"D YEWRVL Doz 086
GoCTIR) , &8 SDB D668 Derarne Roa

Options:

, % 92
3. v 94

4 % 96

Question Number : 28 Question Id : 8135611308 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the line passing through the point of intersection of lines 2x —y+2 =10
and x + y 4 4 = 0 and the point (5,-2) is

20—y +2=0 2008050 1+ + 4 = 0 50 PotDodI) MemRr, 0040 (5,-2)

Doto) ot ek B3 PALSGEAN
Options :

1oVt 2=0

5 % y—2=0
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% 4x —3y—6=0

X =il

Question Number : 29 Question Id : 8135611309 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

H-f{x) = logxz{:lcg x) . then f'(e) is equal to

f(x) = log_,(log x) eond, f'(e) =

Options:

1. % €

Question Number : 30 Question Id : 8135611310 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of the circle 2x% +2y%2 —3x +2y—1=01s units,

OHaIm LD

2x7 4+ 2y° —3x+2y—1=0 58 T§FgA0

Options :

AP EAMCET 2020
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Question Number : 31 Question Id : 8135611311 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

m/l

sin*(x).cos?(x) dx = 352 then the value ofJ cos*(x).sin*(x) dx =
1]

T2
If the value of J

0

w2 e /2
j sin(x).cos(x) dx = = E.‘JQJJKJ‘I‘ cos*(x) .sin®(x) dx =
0 Bl

Options :
T

1_\_{,32

T

2. % 64

3. %
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o | A

Question Number : 32 Question Id : 8135611312 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the mean and standard deviation of a binomial distribution are 20 and 4 respectively. then

the number of trials 1s

28 B(IE DTRT NS 0806 {Han= 20, 20800 TS DBVHAN= 4 90N,
PodT© Fooa.ué

Options :
1.« 25

5 % 200

4 % 100

Question Number : 33 Question Id : 8135611313 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The angle between the tangents drawn from the point (1, 4) to the parabola y? = 4x is

(1,4) dod y? = 4 U°S00ErAS o Ry6\30 o6 St

Options:
T

1.% 6
AP EAMCET 2020
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Question Number : 34 Question Id : 8135611314 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ax—b

If y= (x{%(xl) has a turning point P(2, —1). then the values of @ and b are
(ax-b) | ’ 3

y= m 220038 P(2,-1) DG WY Dot SV, Lo, a H8odw b
HIIVIDY) ,
Options :
1w a=0,b=1
5 @@= 1.8=18
3xa=—-1b=0
4ok @= 0,b=-1

Question Number : 35 Question Id : 8135611315 Question Type : MCQ Display Question

AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the bi-quadratic equation f(x) = x* 4 2x® — 16x> —22x 4+ 7 =0 has 2 + /3 as one
of its roots, then which of the following 1s not a root of f(x)?

Fr) = x* + 207 = 16x% = 22x +7 = 0 B30 RaDEORAVIL 2 + V3 28 durodw
200d, & 308 TS f(x) = 0 £ 2res T8

Options :

1w 3—1V2

> % 2 — w@

s
3 % Rt T L Vs

4% —3-V2

Question Number : 36 Question Id : 8135611316 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

| | 2019

If f:R - R is defined as f(x) = (2020 — x®**)Y2%° v x € R find (fofofof) (m)
| | , 2019

f:R— R, f(x) = (2020 - x?¥)H201 v x € R rr 6D, (fofofof) (M) -

Options:

1% 1

2. % 0

AP EAMCET 2020
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2019
3« 2020

2020
4 % 2019

Question Number : 37 Question Id : 8135611317 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f'(x)=asinx+bcosx, f'(0)=4, f(0)=3and f(x/2) =5, then f(x) =

f'(x)=asinx+bcosx, f'(0) =4, f(0) =3 o8adw f(n/2) =5 o, f(x) =
Options :

1 % —2cosxy —4sinxy + 1

5 2ecosx+4sinx+1

3 % 2sinx —4cosx+ 1

4 % 2sinx +4cosx+1

Question Number : 38 Question Id : 8135611318 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

From 5 consonants and 5 vowels. how many words can be formed using 3 consonants and 2 vowels?

D) PN, D) BN Aol SIPE TPRORN, Toth) BN Gl DALV 6yCtre

DT RAVY Qo

AP EAMCET 2020
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Options :
1. ¢ 12000

, % 2000

5 % 20000

4« 1200

Question Number : 39 Question Id : 8135611319 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The length of the perpendicular from (1, —2) to the line 12x + 5y + 63 = 0 is
(1,-2) Dotodew 12x + 5y + 63 = 0 8% (v Lordrddw =

Options:
1. % 4

85

4. % 13

Question Number : 40 Question Id : 8135611320 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020
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Orientation : Vertical

If one end of the diameter of x* + y2 — 2x — 6y — 15 = 05 (4, 1). then the co-ordinates of
the other end 18

vi 4yt =20 -6y —15 =0 208 o 28 TR w8 VA6 (4, 1) wowd, & Totsd

ARe
Options :
2.v (=2 5)

Question Number : 41 Question Id : 8135611321 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lengths of the sides of a triangle are 15, 20, 25 units. Find the circumradius of the triangle.

w8 §20a oarw TEPHow 15,20, 25 crArT do GFhasw D893 a“sb“g.:m

Options:
30 units
30 ot
1. % .

7.5 units
7.5 Qe
2. ® -
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12.5 units

th

20 units
. 20 olardew

Question Number : 42 Question Id : 8135611322 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the line y = mx is one of the bisectors of x? + 4xy — y% = 0 ., then value of 2m =

2 tdxy—yi=0 éarodnﬁé?’.g_} s Eﬁ‘é}é&&&&)odrﬁ 8% v = mx @00, 2m =

Options :

1 o _l + .\'q"lrg
, x 1+5

3 81— V51

4 % 1—+/51

Question Number : 43 Question Id : 8135611323 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of unit vectors of the form a i + b :F + Cl where a,b,c € W 13
ai +bj +ck, ab,c€W 6P 08 chrdeS DAL Vo
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Options :

1.332

Question Number : 44 Question Id : 8135611324 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Statement-I: Two lines which pass through a given fixed point and are equally inclined to
two other lines passing through the same point, are always perpendicular to each other,

Statement-II: Angle bisectors of two intersecting lines are always perpendicular to each
other

Du0-1: TN Docos rhorm Tk G0 Barew, 8 Doty Aot J'ad L Gotod
B0 06| STuR DATHIT DocoHBB, 2088 Bot Barwd 25TIEEH votren.

RaBd0-I: 23 Dot 96 Dot.otdD Bocky HE¥ B0 S RDBIDOER DL e
2,808 88 LoEPLIIT &otTo.

Options :
Both the statements are true and statement-II 1s the correct explanation of the statement-I
_— Bocl) DIBTA 2. PIdH0-1 L DIIDH00-11 HBEN e

Both the statements are true but statement-II is not the correct explanation of the statement-1

5 % ot DATL) D220, PIVB00-| 80 HISHH00-11 DB DFE 76
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Statement-I 1s true and statement-11 is false
3 % 2590801 D250 DO @mc@:ﬁmj

Statement-I 1s false and statement-II 1s true

FeFalataFu bl Eﬂﬂ.}cgo 2RI Do
4, %

Question Number : 45 Question Id : 8135611325 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

—
LetR = [5\;"5 + 11) " and f =R —[R] . where [x] denotes the greatest integer less than

or equal to x, then Rf =

n+1

T 2
[x] (813 2pTrosen < x & wrdokodo. R = (55 +11) ; f =R — [R] eawsd Rf =

Options :

) 2n+1
1. %

5 % 22n+1

) 4.n+1
3. ®

2n+1
4.«‘«/4

Question Number : 46 Question Id : 8135611326 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

fa=1+4+2444 uptonterms, b =143 +9 4 000 uptontermsandc =145+

a 2b 4
25 4 e uptontermsthen A=|2 2 2|=
g 5

a=14+2+4+- n DG H68, b=14+34+94 N DG 2068 0badw

a 2b 4c
c=1454+25+4 0 N DG S0, o, A=[2 2 2| dwd___
211 3!1 SH
Options :
L (30)7
5. % (10)"
3.¢ 0
4 % 2R3 5%

Question Number : 47 Question Id : 8135611327 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10
: - . — k)10,
If the term independent of x in the expansion of (x-“x = F) 15 405. then k =

_ 10
(Vi-5)  Drome” Hooean 405 @, k =

x2

Options:
3 only
3 SArdan

1. %
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—3 only
—3 Srado

Question Number : 48 Question Id : 8135611328 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3x
lim (1 -I-—) =
x—oo b

Options :

Question Number : 49 Question Id : 8135611329 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The angle between the pair of tangents drawn from (1, 3) fo the circle x% + v* — 2x +
4y—-11=01s

(1,3) Dockosdy A0 % + y7 — 2 + 4y — 11 = 0 3,528 s y6,0amasoor) 306
Emaw

Options :

n ()
Sin ===
1 ¢ 25

Question Number : 50 Question Id : 8135611330 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the number of marked points on the plane. if when connected pairwise by line segments,
the total number of line segments formed 1s 15.

28 R0B00Y" §) Dot HBow) Totin Feyd AWED G HoctL) BYO\T
15 Be0 D6y6:A. 30td Dot Roa

Options:

1.*‘435
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Question Number : 51 Question Id : 8135611331 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(1 + cos(36) + fsin[j36))2“

1+ cos(368) — isin(38)

Options :

| @ cos(606) + i sin(608)

5 % cos(6068) — i sin(608)

3 % cos(206) + isin(208)

4 % cos(206) — i sin(208)

Question Number : 52 Question Id : 8135611332 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the lines with direction ratios (2,—2,1) and (1,-2,2) is

(2,—-2,1) S0dadw (1,-2,2) &S R0g[RVTT (i) oEAJ) 06 N

Options :
1. %
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Question Number : 53 Question Id : 8135611333 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

It f 1s a continuous real valued function. then the range of the function is

W8 TPRD V] YO [ BIDND) S WS, TP T

Options :
[0,1]

1. %

[ Minimum(f), Maximum(f) ]

, . [33%200(f), sbgan(f) |

5« [0.0)

4. i’ {\_m’[]]
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Question Number : 54 Question Id : 8135611334 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1
If cosecH + cotf = E . then & lies in the

1
cosec 8 + cotf = 3 200, §59:900 0 Godd FBAW

Options :
1% quadrant
| w19 Fedw

2% quadrant

25 a0

3% quadrant
. 35 s

4™ quadrant
| 4D s

Question Number : 55 Question Id : 8135611335 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If Ix? +3xy — 2y* — 5x + 5y + k = 0 represents a pair of perpendicular lines. then

L® + 3xy — 2y% = 5 + 5y + k = 0 Ra0$06:0 28 wotd Garatm)d) ardY. e
Options :

x k=13 1=+42
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e ==22, = =12

2. %
s o k=8 =2
4 K =16, 1=9

Question Number : 56 Question Id : 8135611336 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the curved surface area of right circular cylinder inscribed in a sphere of radius 22 em 1s
maximum then height of the cylinder will be

22 cm 353“2:.113 o B¥A0S” Gowidh riﬁ%x D80 ETU}SM o ;M;’J:m ALY :
Options :
11

1 F cm
%’5 |

5 % llw,-"? cm

3 ¢ (0.22)4/2 m

4 % (0.11)v/2 m

Question Number : 57 Question Id : 8135611337 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The index of the power of x occurring in the 5™ term from the end in the expansion of
e 5 12 .
2 2 #
o3 5 12

(? = —2) D6S” DB Aot 5 HEAWES’ v E), SN

X

Options :

1.% 3

2. % —3

3% %

4.v 4

Question Number : 58 Question Id : 8135611338 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

d (x4+x2+1

If g x2+x+1) =ax +b,thena—b =

d (x"“+xz+1

dx

= ):ahx'-l—bwcmai,a—b:
x-+x+1

Options:

1.4 3
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Question Number : 59 Question Id : 8135611339 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

K 1
J e =

Options :

1 5 x.ﬂ
— Tan —
1.« 2n 2

2_ w

n Sig! (:x'“) g

— Sin == C
3, % 2

1 - e

— Tan =]
4 % M 2

Question Number : 60 Question Id : 8135611340 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
]
fa —x
[ "‘qlrﬂ, + x

dr=

— Lk

Options:
arm

1.% 2
AP EAMCET 2020
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3 x 2am

4\__/{1171'

Question Number : 61 Question Id : 8135611341 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A bag contains 5 blue and an unknown number x of red balls. Two balls are drawn at

5
random. If the probability of both of them being blue is i then the value of x 1s equal to

28 2006° 5 Do todoe, ¥ A6 Lodoen 637 o). PN SorT 2 Bodorn RN

)
Bolr VoD SeIerdS RoePd = 900, X =

Options :

1.% 8

Question Number : 62 Question Id : 8135611342 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

For which value of n € N. n! has 13 trailing zeros?

n €N, n! Densdes” DI 13 H6D ROT™) e o°® e9083, n =

Options :

- 51
> % 54
3.v 57

4 % 60

Question Number : 63 Question Id : 8135611343 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

) 1 0
Evaluate A2 + 21 if A = [1 2]

1 D 5
A:[l 2]@0}3.6.,4 + 27 =

Options :
1% 24

, v 34
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Question Number : 64 Question Id : 8135611344 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The difference between the greatest and least values of the function f(x) = —x + sin 2x on
T m.

[_E ' E] -

f(x)=—x+sin2y, x € [—% | g] 300824 o (33 500052 S Dewide) B

Options :

V3+/2

Question Number : 65 Question Id : 8135611345 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

4x 2+3x dy
If v=Tan ! ( ) Tag =+ ( ) .then— =
y 1+5x2 + 3—2x dx

1 4x T .2 e s dy
\-'=Tanl( )-E—Tanl( ).e.‘:cmé—:
= 1+5x2 3—2x dx
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Options :
1 ¥ 2
1 % 1+25x%  1+4x2

5 " 2
1+25x2 1+x2

2. %

Question Number : 66 Question Id : 8135611346 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two point 4 and B with co-ordinates (1, 1) and (-2, 3) respectively are given. Then the
locus of a point P so that the area of APAB 15 9 sq. units 1s given by

A 208050 B 999 Gotd Dot Ardsten S (1,1) , (-2,3) dzbadw. PAB
DT 9 HA0Y ArAiw wabjbio 39083 P Dotadd H0E6mA

Options :

1421—#3}'-}13:{} & 2x+3y—-23=0

> % 2y 3y—23=0 & 2 3Iy—13 =8

L% 2x+3y—13=0 & 2x—3y+23=0

4 % 2x —3y+23=0 & 2x+3v+13=0
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Question Number : 67 Question Id : 8135611347 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Let a,band c be the lengths of the sides of a triangle with its opposite angles 4,B and

respectively. fa =3, b=4and 4 = Sin”" G), then the angle B s

SZ0BANG'D ZoRaww TERD a,b, ¢ 28050 & FRSnL G DR Eeasne
ABC3Bato a=3 b=4 A=Sin" (%) 0w, S B =

Options :
1. % 30°

Question Number : 68 Question Id : 8135611348 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The scalar product of the vector @ = 1 + ] + J with a unit vector along the sum of the

vectorsh =21 + 4] —5kand T =21 +2] +3k is equal to one. Then, A =

b =20+4] =5k T=17 +2] +3k 0880 botd B35 o ohrdes HOS
208080 @ = 1 + ] + k 063 do woTURA D 1 and, 1 =

Options :

AP EAMCET 2020



AP EAMCET 2020

Question Number : 69 Question Id : 8135611349 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Options :
| % 3PT

Question Number : 70 Question Id : 8135611350 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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[ 1+ tan?x p
o — {3 X =
1 —tanx

Options :

1-tanx
lo (—) +c
1 % g l1+tan x

i log (m) 35

2 l1—tanx

1 1-tanx
—lo (—) +c
2 g 1+tan x

1 1+tanx
—1lo (—) +c
g 1—-tanx

Question Number : 71 Question Id : 8135611351 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

R C - . #
Suppose z € C has argument @ such that 0 < 8 < i and satisfy the equation |z — 3i| = 3.

: 6
Then what 1s the value of cotf ——7?
Z

6
z € C. z 0308), 030 Hmﬁuﬁnﬂﬂiﬁ{:%. |z — 3i] :Swmémtﬁ—?:

Options :
1 % 28
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Question Number : 72 Question Id : 8135611352 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

It (ay,by,cy), (ay, by, cy) are the direction cosines of two lines making an angle 8 with each
other, then cos f =

(g, by, 1) 208080 (a3, by, £3)e0 BF ERM (i) Boctd Bawy 20655 Seasdns 6 AW, cos f =

Options:

o @10z T byb; + 40,

> laya; + byby +¢;65|

, o (@102 +b1by + i)/ (Y aias + bibs + cfcd)

4
4.% 3

Question Number : 73 Question Id : 8135611353 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Solve ix2—3x—2i=0

ix? —3x — 2i = 0 & FHothol
Options :
1. F

AP EAMCET 2020
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—i only
—i S

—2i only

, x —2i 578

—1 and —2i

3 J—I' 080dw —21

i only

, o [ OTED

Question Number : 74 Question Id : 8135611354 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the least positive value of k. if the range of 15, 14, %, 25,30, 35 1s 23

15,14k, 25,30, 35 687078 T 23 w0ier Gol k 50 o 8 33 evd

Options :

1 = 11

5 % 13
3 v 12

4 % 14

Question Number : 75 Question Id : 8135611355 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

100000
If [x] represents the greatest integer not greater than x . then [(1 + 1000{10) l =

| » 3 y 1 100000
[.X]., X &) Aot ﬁaﬂé{ @gosmm m"‘_‘;’ l(l # 1{]0000) ] =

Options :

1.% 1

Question Number : 76 Question Id : 8135611356 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The range of the observations 20, 28,40,12,30,15,50 1s

20,28,40,12,30,15,50 HBI0H0L .:1»5:33 smgﬁgjod.

Options :
1. % 18

2.v 38

3 % 28
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4 % 16

Question Number : 77 Question Id : 8135611357 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In AABC,£A = 30°+ £C and R — (3 + 1)r = 0 where r is the inradius and R is the

circnmradius, then

ABC Qzoman®’ 24 = 30°+ £C 080 R — (V3 + 1)r = 0. r 8050 R 00 9086y

208050 egﬂmig;ﬁgega“éb“ganm 900,

Options :
ABC 15 a right-angled triangle

|« ABC 28 worfnagziain

ABC 1s an equilateral triangle

5 % ABC 2D0eTm0 G220

ABC is acute angled
_ ABC o8’ 82z
3. %

4 % LA= 75° LB = 60° £C = 45°

Question Number : 78 Question Id : 8135611358 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the solution of the differential equation given below

208 DLV HOEGHADVRA FBotdol

dy St e

= + y.cosec”(x) = cosec”(x). cot(x)
Options :
- vpecotx e {l v E_"!Dl'i't'j E—catx +c
- ye tOT = (1 — cotx) e O Lo
3 % ye®©t* = (1 4 cotx) e®°** + ¢
L ye ¥ = (1 4 cotx) e ¥ 4 ¢

Question Number : 79 Question Id : 8135611359 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1 4 -1
Find the rank of the matrix |2 3 0
0 1 He
1 4 -1
2 3 0 |2rasge =
0 1 2
Options
1% 1
2. % E
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Question Number : 80 Question Id : 8135611360 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Suppose the number of accidents occurring on a highway in each day follows a Poisson random
variable with parameter 3. Then. what is the probability that no accidents occur today?

ErErd Q6 HAEE 26 HAFEIW o] oS AT 3 DS ©0BNH

wond, & 822 Q HAFGA 20 THos RoPd

Options:

1.v €

Physics
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611361 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnetic flux through a circuit of resistance R changes by an amount AQ) in time At. Then
the total quantity of electric charge Q. which is passing during this time through any point of
the circuit 15 given by

R DB6¢ 3§ ) 8 DS Swohdn ahos), wahr)ed eATwran At dabing’ A
SrEd00d. & SwaLEy’. & HAahang’ Qéﬁ?@r‘é‘l Q0000 3)(1’13595 59300 ( dodh?

Options :
AQ
R
AD
g =—MR
2 % At
AQ
- Q P +R
AD
=
4.
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Question Number : 82 Question Id : 8135611362 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a unit of time?

So& T°e5° Terd8 HAT0 TO DB?

Options :
Lunar month
1 % Wo& Qv

Light year

5 & 5708 RoDB OO

Leap year
IR SPEE NCEY
3. %

Microsecond

4 % 208 DSl

Question Number : 83 Question Id : 8135611363 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A thin rod of length L is magnetized and has magnetic moment M. The rod is then bent in a
semicircular arc. The magnetic moment 1n the new shape s

L T6) 60 Deusd $6I) 0ahy) obgBodi ard) w0 08 Frdvso M. & $a 28
©05,30tiorT Sotrd. wawd & §¢ 5°008S” OV 08 gFSo dodh?
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Options :
M

1. L

3332?:

Question Number : 84 Question Id : 8135611364 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two wires of equal diameters. lengths [ . [, and having resistivities S . S, respectively are
joined in series. The equivalent resistivity of the combination 1s

R T o Both Arfe TEHew SARM 1y, I, 2080 AFEEden S8R S, 5.
T 3535 €D, e "n:ooifr‘nfg@ ah0S), Bov) JF e

Options:

1 & L +1;

2. I -1

I, +1;
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S1ly — 8315

Question Number : 85 Question Id : 8135611365 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The first law of thermodynamics confirms the law of

&QASSTR 200G Dadsvo D ArZ) BVDHORE?

Options :
Conservation of momentum of molecules
£9£2) g;ﬁé;ﬁﬁ .3}9:‘;-5@35;313

Conservation of energy
5 ¥S DSBS

Flow of heat in a particular direction

208 DOVD BIS'D & DT
3. % " w

Conservation of heat energy and mechanical energy

€0FS OB ciTreBsELIAD DS[ELDEW
4. % %

Question Number : 86 Question Id : 8135611366 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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T

Inan A.C. circuit, the current flowing 1s I = 5sin (100t — 5) A and the potential difference

is e = 200 sin(100t). The power consumption is equal to
28 A.C. 50008 DS <o I = 5sin (wm " g) A 508080 TOHES Bdo e =
2005in(100t) 900, 3‘:1393?5 DRI do =

Options:
1 % 1000 W

L % 40W

% 20W

4w OW

Question Number : 87 Question Id : 8135611367 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For television broadcasting. the frequency emploved is normally in range

892D PITIS FTERINT GHAFAoS FIDIED T
Options :

1 30 — 300 MHz

. 20 —300 GHz

2
5 % 30 —300 kHz
4 % 30—300 Hz

AP EAMCET 2020



AP EAMCET 2020

Question Number : 88 Question Id : 8135611368 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The displacement of a particle moving with uniform acceleration mn time *t’ 1s given by

S =30t + 5¢t2. its initial velocity is

‘t’ 3008 ‘rbmejgdeaos 203rE90 WA 28 Dotk I, g‘a BoFANHEL) HEGRO

$ =130t + 5t & §d3r0

Options:

1 % 35 m.s?!

5 « 30 m. e

3 % 40 m.s~ !

4 % 4D m.s !

Question Number : 89 Question Id : 8135611369 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A uniform chain of mass ‘M’ and length *L’ 1s Iying on a smooth horizontal table. with half

of its length hanging down. The work done 1s pulling the entire chain up the table is
M @53, L TEDAL 28 A200S T, 28 AATedE Gewe D, VMo TED) SodD
DUE DGO Eotrdd. &8 FuvRnR) PO Send D8 Tricod” BoDIVID D Jod?

Options :
1. %
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3.+ 8

MglL
4. % 16

Question Number : 90 Question Id : 8135611370 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When two 1dentical capacitors are charged mdividually to different potentials and then
connected m parallel. after disconnecting from the source,

2,8 BSR0% Doty SFAER Dot HB(D THIHES 0F B3H0D T Drodorr
$90% dhTd 2350 Aol & Dhotecied. ©ONR,

Options :
Net charge = sum of initial charges
NES e3D%0 = &9 DT 0 Jwdo

Net potential difference # sum of individual imitial potential difference
QES ﬁ“ﬁgoﬁaﬁ Btso + é?séri@ &9 ﬁ‘ﬂguﬁeﬁ ® Do

Net energy stored < sum of individual initial energy
Do BoDHWED < I18Md & 390 2do
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All of these

RO POGDDD
4.9

Question Number : 91 Question Id : 8135611371 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The acceleration at the end of 2 s. of a particle whose motion is represented by the equation
§=4t> -8t +5t+41is
w8 Dothd) AS), BOTA) § = 4t — 8t% + 5t + 4 mba:ajm 2 2800 SFUo

STS &8 Dot BGE0

Options:

1 o 32 m.s™?

9 % 40 m.s 2

3 % 37 m.s7?

4 % 35 m.s 2

Question Number : 92 Question Id : 8135611372 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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232 . ; ;
go 1 0 emits 6@ and 4/ particles and gets converted info a lead. The mass number and
atomic number of lead 1s

“0Th, 607 2805w 45 Srrwd D003Bed) Hidom ArBod. o Hide VY, G-

'FJD&J?S, DOSTED "coo&.':lé Doh?

Options:
1. ¢ 208, 82

, « 82, 208

5 % 210, 82

, » 210, 84

Question Number : 93 Question Id : 8135611373 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Magnetic field dB to a current element at any point on its axis 1s

DENS DDeTold 9870300 TINE). L0 3 DEONT Dotdey) H6) ) od E3A0 dB
) J) b & & b

Options:
1M1
gbgm

Zero

waﬁéaim
2.
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varies between minimum and maximum
Sﬁgﬁﬂé : ﬁﬁg"ﬂé mQS AP0

depends on the position of the point

Do géﬁmj 2D ESECCIAD
4, % :

Question Number : 94 Question Id : 8135611374 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the radius of a sphere 1s doubled by keeping its mass constant. compare the moment of
inertia of the old sphere with that of the new sphere. about any diameter.

G3E°3 igdnrr“ Socd 28 fivo OIg) :.r“lgb"g“:}‘l 0o BTG, ABT 28 T[Ro
Do e boto §¢ Avw acd sy Jeryod.

Options :
,l.\_x.lrl:fz =3 1'-4‘

2 .Irl:fzz 1'-2
I]_:Iz:q‘:l

3. %

45_311:!2:2:1

Question Number : 95 Question Id : 8135611375 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A wire of length 1 m and radius 2 mm 1s vertically clamped. The lower end is twisted
through an angle of 45°, The angle of shear is

1m T, 2mm a"?&&gaﬁ.n €A% Ay LorAT Dietrd). $0d ) 45° £ e’
By, DT Eradn deod

Options :
1 « 0.09°

, % 0.9°

3. % 9°

4 % 90°

Question Number : 96 Question Id : 8135611376 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following has dimensions of charge?

208 Tre” e3D3AW o3ws), o £HA &) & DE?

Options :
EGF/{E

1. %
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.ED—} _—

Question Number : 97 Question Id : 8135611377 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A coil of area 10 m? is placed in a uniform magnetic field of 0.3 k Ib.m ™2, with its plane
perpendicular to the field. The coil rotates at a uniform rate to complete the revolution in 8 s.
find the average e.m.f. in the coil during intervals when the coil rotates from

1. 0°to 90° position

i1 90° to 180° position

1. 180° to 270° position

v, 270° to 360° position
10 m? dTopw (o 28 w0 03k 1h.m™ &) 28 02 ) 0d £, oD
S8 VORI Eorrd. & the) ISOAT AWMAP 2§ F0PAW 8 5 VDODHSE”
WRWot] &3 mgé‘

. 0°&oc. 90°

ii. 90° dvoct 180°
iii. 180° &ooc: 270°
iv. 270°&0oc 360°

D 5Gwe’ SAMBR) 2GRtk 20 33&3)555“‘)@5 (A5 )V

Options:

37 o Bf e —BF pre R
- [2V; °[aV; T2/ V; T3V

37 5. —3F v 3 . —3
. /ZV, /ZV, /ZV, /ZV

OV: OV; OV; OV
3. %
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Iy s By Fn e B
L [2V; T2V 2[oV; 2oV

Question Number : 98 Question Id : 8135611378 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The time taken by a force of 2 N to produce a change of momentum of 0.4 kg.m.s in a

body 15

28 SR a8 2 N 0erd) DAIrBoddi @ & SHE" 04 kg.m.s™ G0
amabc‘*;:aci:)é. :Jeg 00 doth?

Options :

> % 0.02s
3 % 0.5s

4. % 0.05s

Question Number : 99 Question Id : 8135611379 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An imaginary equilateral triangle ABC of side length 2 m is placed i a uniform electric field
E = 10N.C ! as shown. Then, ¥, — V5 =

A,B,C Dothdipud, 2m Tepdy Foared d6yE us &3S RAEPIFY QBN
E =10N.C! 6o g Deba oGS ZB08°, $od DS’ BFDD DB 6183,
Va—Vp=

Options :
1.% SV

5, % +5V

5w —10V

4 x H10V

Question Number : 100 Question Id : 8135611380 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When will a body of mass 20 kg moving at 15 m.s™*. subjected to a retarding force of
100 N. come to rest?

20 kg 55073 o 8 S0 15 m. s S6aws Hatreknd) R, 0 100N
2063 (B ) Lwo DAB, &8 HY) Dod STV 3MIBA? [.2}%'39.3 %@é 0ot ]
Options :

1. & 38

9 % 65

3 % L5s

4.% 98

Question Number : 101 Question Id : 8135611381 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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As shown in the figure below, a point charge ‘g’ moves from point ‘P’ to a point 'S’ traversing a
path PQRS 1n a uniform E . The electric field is directed along a direction parallel to x-axis. The

coordmates of, P, Q, R and S are(a, b, 0) (2a,0,0) (a,—b, 0) and (0,0,0) respectively. What is
the work done by the field m the process?

w8 Deidasn ‘g, E Deiogd £6:8° Docio) ‘P’ ood oo 'S’ 36% PORS &d o
ArG3006" 0SrE008. DAYS S84 1-0580 B TS, P,(,R, S © exoTes

(,5,0) (24,0,0) (a,~b, 0) S0Ba (0,0,0) 028 £8:500 TT° BV D dods?

y
A
1
I
| xE,
1 P I
L% g
1 g
I
's‘i‘“ Lo
V P
R b
Options :
1, = 9EG@
2. v —qEa
3. % 0

Question Number : 102 Question Id : 8135611382 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The photoelectric threshold for a certain metal surface is 360 A. If the metal surface is

irradiated by a wavelength of 1100 A. the kinetic energy of the emitted photoelectrons is

2D 603 5708 DekofS b0z S6oiBY W 360 A u S'dvsn p 1100 A
SoriBgan o DS0E30 DBV0NE JLSE STod VT (18233

Options :
1 % 1.1eV

5 % 23€V

4.v 0

Question Number : 103 Question Id : 8135611383 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A closed organ pipe and an open organ pipe of same length produce 2 beats/sec when they
are set nto vibrations together in fundamental mode. The length of open pipe 1 now halved
and that of closed pipe is doubled. The number of beats produced will be
DAFD T &) w8 Ardd LA, 2,8 B8N FRZL Fes ﬁ“a::aqgoé‘
G003 D6YEA DidyoGare 2 H5y/80. FaYE BOD Fn Tk rfaw,

SRR FR80 TR 8o T, D VI DyeETY Qo] ?

Options :

1.7

AP EAMCET 2020



AP EAMCET 2020

Question Number : 104 Question Id : 8135611384 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of electric lines that emerge from a finite charge +q 1s

DOEh 3355355:“;5%;113 +q AooG DLVDE 3@5& QBN Vo[

Options :
infinite
5 900BDW

any finite number but not equal to zero

Do SES R H8aes Road

proportional to the charge
DEETD A0S RS AT SIS G0

= 9]
&Jﬂ.‘-ﬁ;:];jns

Question Number : 105 Question Id : 8135611385 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Inn the following circuit. the equivalent resistance between A and B 1s

2o SooHAS” 4 baivy B o 065 ooy alofntobb)

482 GLY
| E | Jlllﬂlllh'iﬁf'_ J "'._."*'._-"."._-r \/
A®— 220

——® B
-2V

—10V g
—-Jxm,-«.—\_—[y—wﬁ

802

Options:
1 % (20/3) @

, x 10Q
;w169

4% 20Q

Question Number : 106 Question Id : 8135611386 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

120

An electron having charge 1.6 X 107 € and mass 9 X 1073 kg is moving with 4 X 10° m.s™*

speed 1n a magnetic field 2 X 107 T 1n a circular orbit. The force acting on electron and the

radius of the circular orbit 13

16X 107 € 5380, 9 x 107 kg g50°3 o dogrdy 4 x 10°m.s™ Sddwd 2x 107 T

GO 08 ESANY’ HTTEAVT SE0S0E. VS P DI B LK MBI HT's

84y a:g&gmmm 3000t

Options :
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| % 128 x 1073 N, 1.1 x10™* m

5 % 128 x 107 N, 1.1 x1073 m

5 x 1.28 X 108 N, 11 X103 m

~13 —4
4w 128 X 1072 N, 1.1 X 107" m

Question Number : 107 Question Id : 8135611387 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The colour code for a resistance of 22 Q + 5% 1s

22 Q + 5% IS Gorde DoSchA0

Options :
Brown - brown - black - gold

- B G020 - L& - Hed) - Lormroaw

red - red - brown - silver

L e DERD - AR - B - Doct

red - red - black - gold

3 ¢ GO - DY) - DRV - LoTTPaa

red - red - orange - silver
4% DEIIY) - QD) - TBo - Dok
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Question Number : 108 Question Id : 8135611388 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Kinetic energy of rotation of a flywheel of radius 2 m. mass 8 kg and angular speed

4rad.s™ ! about an axis perpendicular to its plane and passing through its center is

2m a“ga“go, 8 kg @30°3, 4 rad.s ! Sedod Stfo $HA Sogo Mot Ve Serd3
VORIOTT &) BEe00T 8BA o FHm B2 3 Dend

Options :
1. ¢ 1281J

5 % 19617
5 % 2567

4 % 3927

Question Number : 109 Question Id : 8135611389 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What 1s the pressure required to reduce the given volume of water by 1% ?
(Bulk modulus (K) =2 x 108 N.m™?)

1% 8 IDBATETER) BAoBEIE o Do VBB BPBA?
(505068 toeago (K) = 2 X 102 N.m™?)

Options:
| % 2X10°N.m™?

9 o 2 X 10° N.m™2
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107 =2
L % 2%107 N.m

4 % 2Xx10° N.m™?

Question Number : 110 Question Id : 8135611390 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle executes simple harmonic motion between x = —4 and x = +A. If 1t takes a time
Ttogofromx=0tox =A/2and T, fo go from x = A/2 to x = A. Then

x=—-Adbdnx=44w® :13&35 28 S0 POV mméés SRR ea:lé. €5 S0 X =
0 A00c x = A/2 & £6ToDH f‘.aeg o T) 0o x =A4/2 G x =4 D
$8T0d%) 18 seaw T; wowd,

Options:

o T<h

L xTi>T

Question Number : 111 Question Id : 8135611391 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A mixture of Yellow light of wavelength 580 nm and blue light of wave length 450 nm 1s

incident normally on an air film of thickness 2.9 x 10™* mm. The colour of reflected light is

580 nm @do(‘ia@_gé;ﬁn (L DY) :Jtﬁl):) 508 00030 450 nm S0ef QQ%QD 50 Dbt

rodow) GlLE; ab3dvaw w8 2.9 X 1074 mm St o w8 T8 383D HevdinHda) av.

::mgamﬂ:5 50 GorD

Options :
Red

Question Number : 112 Question Id : 8135611392 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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5
. ' . i =5
One mole of an ideal diatomic gas undergoes a transition from A =
g I &

to B along a path AB as shown in figure. The change in internal
energy of the gas during the transition is S

Dhaod)" GrDD o™ 28 XS BLIGATES B036) T A

(]

oot B & AB Do & rBo0E . Qe ;ﬁ:“fibf.o_):)m

(AN g 3365° S0y dod?

Options :
1.« —20k]

> % 201

3« —12kJ

4 % 20 k]

Question Number : 113 Question Id : 8135611393 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

W K Roentgen discoverad

W K Trotina e.eb?.‘:%ﬁea

Options :
Short radio waves

- SRS 8403 SColTen

X-rays

5 @ X- Sdere
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Electrons

. DUSTAD
3. % 2.7

Laws of electromagnetic induction

n DS oI 08 O DaATeD

Question Number : 114 Question Id : 8135611394 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A source 15 stationary and the observer 1s in motion along a line joining the source and the
observer. If the frequency heard by the observer is 1% higher than the true frequency. the
ratio of velocity of the observer and that of sound in air 1s:

2080 ".'gdo. HBFVLCD, &3 aé?bl 250050 93 €92 B Dol SEORVBIT) €.

DBFOLD D) FEPHEW, Iz FRLYD[osT) 1% ) LoD, BBV Srio
Sodain rdY’ 3w drre A

Options :

. 1:100

, % 2:100
5 % 3:100

4 % 1:10

Question Number : 115 Question Id : 8135611395 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Four projectiles are fired with the same velocities at angles 25° 40° 55° and 70° with the
horizontal. The range of projectile will be largest for the one projected at angle
£8208 25°,40° 55° 208050 70° Erren S ward Smred’ Teum SR D
d7d. TG, 188 T(D o DED HR0Y 08, Ersd

Options :
1. % 25°

2. v 40°
3. % 95°

4 % 70°

Question Number : 116 Question Id : 8135611396 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tram 1s moving towards north. At one place 1t turns towards north-east. Here, we observe that:

G0 % D) w8 Juo SEUD) B, a8 gw:m 36 0B 636-3raoy 6 Py 86h0b. 429
) 200 58300028 Dkt

Options :
The radius of curvature of outer rail will be greater than that of the mner rail

eI P IE) ;55@“:.:“5&6;333 "0 HErLots NEVRS
1. 3 g E s

The radius of curvature of inner rail will be greater than that of the outer rail

5 65°08 DEP B8, agwm@vgmj EPIR) DETS0l) DS
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The radius of curvature of the outer and 1nner rails will be the same
EPL| D B0k 609 Here awg), agwaﬂgﬁgw RDATIAVT S0t

The radius of curvature of mner rail will be mnfinite

e5°08 DHer ey, égaﬂaﬂgﬁ"dmo edodho.
4, ® i @

Question Number : 117 Question Id : 8135611397 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Minimum excitation potential of Bohr’s first orbit of Hydrogen atom 1s

PEBS DOATTOPED &°6 0 S£f g sy edad TBJIawS

Options:
1.% 3.6V
2 v 10.2V

5 % 13.6V

4 % 34V

Question Number : 118 Question Id : 8135611398 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A system goes from A to B via two processes Tand IT as
shown in the figure. If AU; and AU, are the changes in
mternal energies in the processes I and II respectively. then il

25 65;3’%} A RoC. B £ Botd 3%@30@6 I 208050 IT Heaees” AQ ;

WPOR DT S8R0 bg@ I 20805 Il © &° @oégé

3%008" Srren S AU, 2080k AU, , 800 >
V
Options :

, o AUy > AU,

3. % .ff'l.U]_ < ﬂUz

4 % AU # AU,

Question Number : 119 Question Id : 8135611399 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A uniform solid sphere of radivs ‘R’ and radius of gyration ‘K" about an axis passing through the
centre of mass, is rolling without slipping. Then the fraction of total energy associated with its
rotation will be

FOR0r SHSD) w8 A0 20 Hgdw E]Sb“gm R, $5(0°3 Sogiedon BT Jaon)
095900 DEATT Foes 353“2:113 K. o Qodaw (32385" e (18238 0e) Fridn=
Options:

K%+R?
1% K
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Question Number : 120 Question Id : 8135611400 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two thin circular discs A and B of radii 2 cm and 4 cm are in a liquid at the same depth. T,
i5 the thrust on A and Ty thruston B. Then T, ¢ Ty =

m&b‘gw 2 cm 08030 4 cm (0 Totd HLBA HTTC oS A 006030 B w w8

B33 28 §'d 36 G ow. 4D &g edot) o T, Bk B p &b, wdwow

wwo Tp wod Ty : Ty =

Options :
1% 201

2. %
3.8 4:1

1:4
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Chemistry
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611401 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction, 2H5) + 051y — 2H,0(5). At 300 K. AG and AH of water are —228.4

kI.mol™* and —241.60 kJ.mol™* respectively. The. calculate the value of change in entropy
for the given reaction.

300 K 56 a0 Gog), AG 80 AH devideo 6ok ~228.4 kl.mol ™, ~241.60 kl.mol™
008, 2Hy(g) + 0y5) — 2H,0() BO{E ot 3oy fitdoctod

Options :
1 % + 881J

5 % + 44 k]

L x— 887

4o — 44l
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Question Number : 122 Question Id : 8135611402 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents the stiucture of inorganic benzene?

o8 JTETS” AB AT TV BodS JTYEF) APDWB?

Options :

B B
fl"/ ‘x“Q;\N L ‘\“[—1
1.4 H
H
[
B
s W s W S
C C
B B
Ei"f W ‘\‘H
C
2 % H
H
)
H st Ve H
"\(,f (,f’
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Question Number : 123 Question Id : 8135611403 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following conclusions could not be derived from Rutherford’s o -particle
scattering experiment?

$0BT0E" 6PE6 6 a-5m DED AR Aol TLLED HBSI D&?

Options :
Most of the space in the atom 1s empty.

DOIEVNS” B0 2D HFDLDW
1. %

radius of the atom is about 1071° m while that of nucleus is 1071° m.

, g DO ms&gm o) 10719 m, 3088 ms&gma 107 m

Electrons move in circular paths of fixed energy. called orbits.

. VSR 8081 I fgd 2200 o 9T°5°0 ;.‘uugﬂe_:e.ﬁ’ﬁ S
3.4 8

Electrons and the nucleus are held together by electrostatic forces of attraction.

QOS5 A 080w Sodso 3)::,‘.0?5{3“53 LTV 8)0H0DRIE G0t
4. % 87
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Question Number : 124 Question Id : 8135611404 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following metal ions is colorless?

Eo8 T D 5L ORI Bord Gotkdd?

Options :

.34
1.% T1

2.v S¢
3 % V4+

4% Cr 4+

Question Number : 125 Question Id : 8135611405 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following arrangements 1s correct regarding the three types of radii of an atom?

28 DOATERY W), AP B850 353‘2:1»053 Rotodoc) B RAED O 3088 MOGVE?

Options :
Metallic radius < Covalent radins = Vander wall s radius

e J"}Sﬁ“ﬂc < PAGT2RI0H :.1“5.5“6& < Jolb T¢ :.&“53"6&
@ & @

1. %

Covalent radius < Metallic radius < Vander wall s radius

HABT2D0H a‘ﬂ.ﬁ“dc < 5% :.F?Sa“dc < Jotb T m&b‘de
> ? & & &
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Vander wall's radius < Metallic radius < Covalent radius

Totb TS T < S TG < BT D00 oo
3. @ o G o

Metallic radius < Covalent radius = Vander wall s radius

&' T Go < HSoairaDon T(Fo > Toeb TS T(Frdo
4 % ® ® ®

Question Number : 126 Question Id : 8135611406 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is not true for hydrogen?

1) It exists as a diatomic molecule
2) It has one electron in the outermost shell

3) It can lose an electron to form a cation which can freely exist

4) It cannot form ionic compounds
TESD £ Dotodod) S0 HDIBT RS’ DO G507
1) 08 HTD0TEVS VYT GotLod
2) &9 ersyg 55.56‘ 28 DUTD W £0 Sotwod
3) 28 JOFTA ﬁ‘*r’ﬂ“eﬂ;:s‘o:} S0 ?.;-3‘5 imbiéﬁ“ Eodirc.

1) b ©airdS DITT VR DO T

Options :
1.8 1
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Question Number : 127 Question Id : 8135611407 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When an iron rod 1s subjected towards an atmosphere having very high content of
moisture. which of the process is predominant?

OB[BS B G TTIERANG’ w8 D §4D SoDRDW, SodT I’
HETd0TT 200 HSah D&?

Options:
Chemisorption

Sa06 29
1. %

Physisorption

DEIEHD
ol

Sorption

3 % %ﬁﬂmn

Luminescence

, . 0963

Question Number : 128 Question Id : 8135611408 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

The correct statement among the following. regarding defects in solids 1s

1) Frenkel defect is favored by small difference in the sizes of cation and anion
2) Frenkel defect is a metal excess defect
3) Trapping of electron in the lattice leads to formation of F-CENTRE

4) Schottky defect has no effect on the physical property of solids

mézawgmﬁ‘ o S'TFOL Dotodot), $08TIS” O oW DIBVAD E?
1) sreoirs, daird Dorrire D) Stte SV P8 &' HAD ﬁbd;)cinm.
2) D086 5D 9BE & & HEw
3) 2regind” a)ug“& 208 T°HEAN H0d F-Zoren dedwm
1) X&) &bdw s TS GTL0 P O DDA ok,

Options :

1.331

[

3.¥

Question Number : 129 Question Id : 8135611409 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following metal is used as a catalyst in Haber’s process of ammonia synthesis?

S0B S’ read ;‘chaeﬁ‘ BTN RoFgd” &PV TENE & Tdw 87
Options:
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Cobalt
%GEJ“Q

Copper

2. % T

Zinge

Iron
QRIS

Question Number : 130 Question Id : 8135611410 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find ‘A" in the reaction “ R — OH + A ———— Schiif’s Base ”

"R—0H+A —— 3:153 Foa0” t‘.’}éj&?ﬁﬁ Sairadse ‘A" A dwdac.?

Options :
Aldehyde

Acid
. €500

Alcohol

3 % uu&::ﬁeﬁ
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Grignard’s Reagent
ﬁn‘*ﬁlg 5880

Question Number : 131 Question Id : 8135611411 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following elements, given as hints to their first. second ionisation enthalpies and

electron gain enthalpies.

308 2rUFUR BTG VLTV &dArAd T8 08O, BBOD 05 DE6n
Aorrd S 20Bakw ITFTD Tir| Dotrdwd’ BeddEA

Elements / doreseen AHy AH; A, H
1. Most reactive non metal

o3 uéu"ﬁ%‘u e3¢5 7 A0 A. 419 3051 -48
11. Most reactive metal

d{od t‘.’)U"ﬁ%’P.J e3¢5 1PAD B. 1681 3374 -—328
i1, Least reactive element

09 38,9 SoTIVS 0 AreLw C. 738 1451 -—40
1v, Metal forming binary halide

Options :
, ¢ (i—B), ({i—4), @ii—D), (iv—C)
(i—A), (ii—B), (iii—D), (iv—C)
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3 % (i—B), (ii—A), (iii—C), (iv—D)

4 % (i—B) {i—D), (i—A) (W—=-C)

Question Number : 132 Question Id : 8135611412 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

One mole of an organic compound 'A" with the formula C;HgO reacts completely with two
moles of HI to form X and Y. When 'Y 1s boiled with aqueous alkali 1t forms Z. Z answers
the 1odoform test. Then the compound 'A' is

C3Hg0 Feer o A ol 2y vdw 2 Arew HI & 6] Jod, X' bosw Y’ &d
DETOR 26,6008, 287 PO 0[S" Y 0B WA Z' 80 Bidyod. Z 20 ¥R
e&u‘mﬁé"éé 2058 )08, LS, a0 w0 A D?

Options:

Propan-1-ol
_— TD-1-2085

Propan-2-ol
TDD-2-2,85

Ethoxy ethane

éar.;ré;} &5

Methoxy ethane

TSy HBD

AP EAMCET 2020



AP EAMCET 2020

Question Number : 133 Question Id : 8135611413 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the mass of AgCl precipitated. when 25 ml of 35 % solution of AgN 05 and
25 ml of 11.6 % solution of NaCl are mixed 1s

25ml ® 35 % AgN0; od0sn 25 ml © 11.6 % NaCl w& e w;ﬁiﬁmtﬁas
AgCl er820087?

Options :

1.v 78

> % 17 g

Question Number : 134 Question Id : 8135611414 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The pressure exerted by a mixture of 3.2 g of methane and 4.4 g of €0, contained ina 9 dm?
flask at 27 °C 1s

27°C 3¢ 28 9 dm’ 396" 3.2 g HBS 20Bai 44 g 0, © Qoo $Dow Heiido Jod?

Options :

1 % 1.62 atm

, « 8.00 atm
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5 » 0.82 atm

4 % 3.10 atm

Question Number : 135 Question Id : 8135611415 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The increasing order of acidic strength among the following compounds

I. Benzoic acid
II.  4-Nitrobenzoic acid
III.  3.4-Dinitrobenzoic acid
IV.  4-Methoxybenzoic acid
& S08 BATVS” T8 LV o), TToho i I-Pebls
I ZoFons €550
I 4-25°BoE 008 30
I 3,4-& D58 oS es:d0
IV.  4-2o578y S ans esdvo
Options:
1% Il < < I < IV

z.wlf::IUc:H{:III

3¢ W <I<II <IIl

g2 IV < I <IT <11
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Question Number : 136 Question Id : 8135611416 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

05 + 2K1(aq) ?

03 + 2Kl ey ?

Options :
1. % 105

2. % Cls

3. ¢ I

4 % HI

Question Number : 137 Question Id : 8135611417 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During electro-osmosis of Fe(OH ), sol. which of the following occurs?

Fe(0H); 8 ang), DS 3T HH0mH0 HIA0S’, $oBT76° D& 2dHA?

Options:
Sol particle move towards anode
eSS SETeD B0 E DN SoenTraD

1. %

Sol particles move towards cathode

- 65 geren SERE DD ScvenTran
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The dispersion medium moves towards anode

3 @ DFNS AITrDSAW BIE DHD S

The dispersion medium moves towards cathode
. DED 0ITDEIN TEE DIHD EEOWO

Question Number : 138 Question Id : 8135611418 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The geometry of SF; molecule is

SF, 0803 g, w&&:&aﬁ: 035,

Options:
Tetrahedral
| Sudy) HosBw
1. %

Planar
g eSO

Octahedral
w@ﬁaé

Trigonal bipyramidal
&8st BgRrerjsedo
=

Question Number : 139 Question Id : 8135611419 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following is a bactericidal antibiotic?

0BT DS° DS w%&oﬁraﬁ) Do esotderaireds?

Options :
Penicillin

1 :3:)3&5

Ervthromycin

, % MVESODD

Tetracycline
., O&pEs

Chloramphenicol

EorondE S
4.%

Question Number : 140 Question Id : 8135611420 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The rate constant 1s same for 3 reactions of order I. IT and III respectively. the unit of
concentration being in moles/litre. If the concentration of reactant is unity, rates of

reaction Ry, Ry, Ry will be

s L 1T 2udadw III saresen do tﬁdﬁ&)& Gew ?SU“oS.'.‘m TR, DTEHY
DA :ﬁrgp/@&a&. SOIradsAn Cing) TGS 5080008, Bo[o Jew ng"oE"w
Ry, Ry, Ry 0%

Options :

1_,¢R1 =R = B3
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, « Ri <Ry <Ry

. Ri > R, > Rs

wRIZREiRE

Question Number : 141 Question Id : 8135611421 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When soap 1s dissolved 1n hard water, it’s cleaning ability comes down. This 1s due
to the formation of:

Reoy DBD 200" EBADYE TP BOZAW B &mgé:m SO SERA

206706 D6 Do\ oRIVD?

Options :
1 % (Cl?HEE CGU}ESH

5 & (CITHEE CGO}ECQ

o s Ci7HzsCOOLI

. Ci7H3sCOOH

Question Number : 142 Question Id : 8135611422 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the non-semiconductor element among the following.

oIS ©8-T° TS0 57 Jres ) bioted..

Options :
1. % Ge

2.v Pb
3 % Ol

433,43

Question Number : 143 Question Id : 8135611423 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10 g of a gas at STP occupies a volume of 2 L. At what temperature will the volume be
doubled, if pressure & amount of gas remain constant

STP 865 10 g o) 2 L 8002700 90 ot 6 ¢T3 Sobatd e Do
BR800 &) RDOATEIA Ooid) BUVYYED &) & Dodeh Sr6a008?

Options :
1. % 273K

, v 546 K

L« —273K

4 % 546°C
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Question Number : 144 Question Id : 8135611424 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Increasing order of boiling points in the following compounds is:
2 RB PR Bodo &S (oD ) DO 00

CH;COOH C(CH,;CH,CHO CH;CH,CH,OH CH;COCH,
(1) (11) (111) (1v)
Options :

L ) < (v) < (i) < ()
L o (i) < (V) > @) < @)
L x (V) < (D) > (@) < (i)

4w (@) < (i) > () < (@)

Question Number : 145 Question Id : 8135611425 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Predict the correct order of rate of diffusion of the following molecules.

S0 JroiwHw TGP BE0® DBV §IA°AY BUDoC.

Options :

| % S0;>S0; > PCly > CO,

, » PCly > 505> 50, > CO;
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o o €0, > 50, > 505 > PCly

. CO; > S0, > PCly > 50,

Question Number : 146 Question Id : 8135611426 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a first order reaction Az — 5B,. the concentrations vs time plot 1s as shown. The half-life
of the reaction is

TTRelie®

Concentration

30 min 20 2o
Time S SahED

AVGE AT W) A; - 5B, & mES-swdwe Gy WG 2 DEAVTT Gol. 90,

€36] RTOINY) STV Jodh?

Options :
120 minutes

1w 120 Ddodren

109.75 minutes
5 % 109.75 Ddoarew

112.5 minutes
3 % 112.5 ddTrew
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140 minutes

4 v 140 ddoaren

Question Number : 147 Question Id : 8135611427 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the mass percentage of 3 g of solute A dissolved in 18 g of water?

3 g mddo A. 18 g DBS" £6h &)1 TS0 &0 TSI Jod?

Options:

.« 15.28%

, v 1428%

3 % 16.28 %
4. % 17.28 %
Question Number : 148 Question Id : 8135611428 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s true?

1} 200ml of 0.2M NaOH has same number of moles of solute as 1000 ml of 1M NaOH
2) 200ml of 1M NaOH has same number of moles as 1000 ml of 0.2M NaOH

3) 100ml of 0.2M NaOH has same number of moles as 1000 ml of IM NaOH

4) 2000ml of 0.2M NaOH has same number of moles as 1000 ml of IM NaOH

308 DIST VS DB p0ALRAG?
1) 200 ml 0.2M NaOH &’ ffo gradan arae ‘6303_35 1000 ml 1M NaOH &’ ffe)
TS50 Areow Do) ArDA

2) 200 ml 1M NaOH &° fe» gridéditon arene Roz§ 1000 ml 0.2M NaOH & ffo
TS50 Areow Ho)S RArDIN

3) 100 mi 0.2M NaOH & fie gradebedow 3rene ®ozf 1000 ml 1M NaOH &° o
TS0 Areow oRfd AArDA

4) 2000 mi 0.2M NaOH &" i grdediaw rene ®osf 1000 ml 1M NaOH &° o
TS Areow Do) AArDA

Options :

1.% 1

I~

w
b
4

Question Number : 149 Question Id : 8135611429 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following metals cannot be obtained by auto-reduction of their compounds?

S0 T)eY 9 &5'%ro T R0} ¥do awE), Byobe LoSEm0 HD I Jorwcidd?

Options :
Lead
1% O&

Mercury

5 % 0G0

Titanium

3 @ Serdaie

Copper

Question Number : 150 Question Id : 8135611430 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s called “Lunar Caustic™?

$0BIIS” L6 5728 M Dewd wEd 67

Options:
1. % NaOH

5 % AgCl

5 » AgOH
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4 v AgNO;

Question Number : 151 Question Id : 8135611431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is true?

1) Tertiary amines react with acid chlorides
2) N-Ethyl benzene sulphonamide 1s soluble m alkali
3) N.N-Diethyl benzene sulphonamide is soluble in alkali

4) Tertiary amines react with Hindberg’s reagent

308 DpIBBAVOS” DB Jadw ?
1) €826 DS e e §0E 08 8] Tocod
2) N- &3 808D DOVOE T6300S" o
3) N, N-g 638 8085 2e308 620" Shb
1) ol 56 $°6820E GB20DHE AR BEY TowoTow

Options :

1.% 1

-

Question Number : 152 Question Id : 8135611432 Question Type : MCQ Display Question
AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The total number of ¢ and m bonds present in the following compound respectively are

208 mmévaané* (0 0 08050 T 205" VgL SET

H>N COOCH;

OH

Options :
gl8, T3

1. %

5 JJZ']_, 4

3 % 023, ™5

4 % gl6, T4

Question Number : 153 Question Id : 8135611433 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

Which among the following is a correct statement based on Heisenberg's uncertainty principle?

1) It 15 mmpossible to defermine exact position and exact momentum of an electron simultaneously
2) It 1s applicable to even macroscopic objects
3) Tt 1s possible to determine the exact position and momentum of an electron simultaneously

4) It 1s impossible to determine the exact position and momentum of macroscopic object simultaneously

T ﬁg w.f)?ae‘.’sejs oD 957030 SedaTAe’ D6 RBALA e’
1) 94 sos08" 0955 as) gﬂaa‘m B0ty @3r3weD) eidydaum Jdowotsdin
2) D Sus 9B BRSGIAD
3) 98 s0Ae’ Qﬁg"ﬁ g‘*a‘):m <nbadn @35 S :)ganoﬂ)étm;)

4) 26 SR g“r‘b;fm b VsloVV @b&éﬁm NETANG’ ngoédm ?.‘Jﬁ“éﬁma

Options :

1.v 1

-3

Question Number : 154 Question Id : 8135611434 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The product Q and R in the following reactions respectively are

lindlar's
catalyst oy
H,+ CH,C =CH » P » Q+R

Zn + Hy0

2o r;ﬁdigeﬁ*‘ S)d:jé. Q, R &3y a0 dudod.

Bok erb
SEEAD O3

> P » Q+ R

Zn + H,0

H, + CH,C = CH

Options:
Ethanol. Methanoic Acid
PESES, DBIANS 3205

Ethanoic acid. Methanol
BOSONSE 3030, WASS

Ethanal. Methanal

3 @ RET, AT

Ethanoic acid, Methanoic acid
BRSNS BIW, BSOS 2B

Question Number : 155 Question Id : 8135611435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The fraction of voids occupied in inverse spinel compounds are

DB 23 2B ¥ R0l (Gorees’) e55aotdeI a0

Options :
1.
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1/8™ of tetrahedral voids and 1/2 of octahedral voids

1/8™ SeirEes Sogren 0805w 1/2 &T7arEeS Sogren

1/2 of tetrahedral voids and 1/8™ of octahedral voids

1/2 SEPrEeS Sogren 2080k 1/8™ es5irge dogren

1/4™® of tetrahedral voids and 1/8™ of octahedral voids

1/A™ Serires dogren Sodosw 1/8™ ergarde dogren

1/8™ of tetrahedral voids and 1/4™ of octahedral voids

1/8™ 3erar e Gogren 8ok 1/4" es5irge dogren

Question Number : 156 Question Id : 8135611436 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following oxides is the most basic?

S0 TGS DB A IL) D TOTD) A Goco?
Options:

,  ALO;

L« CLO;

4. Nﬂ.gﬂ
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Question Number : 157 Question Id : 8135611437 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Total number of hydroxyls(—OH) groups in saccharic acid are:

FEBS e3:50H80G WD) AGAD (—OH) DdurFen I ?

Options :

1.% 3

Question Number : 158 Question Id : 8135611438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The formation of molecular orbitals can be described by the linear combination of
atomic orbitals. Which one of the following correctly represents the formation of
bonding molecular orbital from the atomic orbitals having wave functions 1, and 15?7

2SI e.ea!)e:a”%'fo BR0DH SLONS oo wm-u&aw%a Ebébcia“ow. P, 0003w Py
SGofi Paoiown v HEITD 00, Py edofold 0E)-R80 P 3)6;)-56)@, ()
308 HEGRS’ DB B Bied?

Options :

_— Yq X g

2. % lﬁ’&f‘PB

AP EAMCET 2020



AP EAMCET 2020
3 ¥ Yy + Yp

Wa— Pp

Question Number : 159 Question Id : 8135611439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of 1somers of CcHy5 15

CsHyp 60 FresyT (o RDoa)| BuDdod.

Options :

1.¢ 3

Question Number : 160 Question Id : 8135611440 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following does not exist?

2od ‘r‘oﬁ:}y;fmuoﬁé 28 LDo?
Options :
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. XeOF,

3 % XE?FG

4 NeF,
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